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EHD FEHHARHENSULDHE

F 7 4%
3,000,000

(xt%4+) WAL 3,200,000 M
(2=1E) WMB4 3,000,000 M

EC#tt 2,900,000 [

EmD#t 2,800,000 M

EmE# 2,750,000 M

mF#t 2,600,000

OG#t 2400000 H (3%#L)
(R%&fE) MH#t 2,000,000 M

B B I BR {5
2,286,500

(REHNDA, ZEIEDBH. ZREEDHIZRLV=CHt.
Dtt. Ett. F#t. Gt D F1H%E)
(2,900,000 2,800,000+ 2,750,000+ 2,600,000+ 2,400,000) .5

= 2,690,000
(LFEF 1958 x 85%)
2,690,000 X 85% = 2,286,500
XH1t (B Bl FRATEAE R ) (R HEEBY.
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E61Q FHMEHAILLESKREDIZE

F 7 %
3,000,000

(&) WA 3,450,000 M
(&4 EB%t 3,400,000 M
(%4 ECH 3,200,000 M
(®t%4%) WDt 3,050,000 M
HE*t 2,900,000 M
WF#t 2,800,000 M
BGtt 2,700,000 M
OH%t 2,500,000 H (3&%L)

B B I BR {5
2,316,250

(AR DAL, B, Ct. DHtZEFRLMVEL, F#L. Gt Het
D F 15%8)
(2,900,000 2,800,000+ 2,700,000+ 2,500,000) .~ 4
= 2,725,000

(ERCF %8 x 85%)
2,725,000 X 85% = 2,316,250

MHHENELELGYES

E6Q FEHHNRHEMNIREDHS

F 7 %
3,000,000

(&5 WAt 3,450,000 M
(&4 EB%t 3,400,000 M
(®%45) ECH 3,200,000 M
ED+t 2,700,000 M
OE#t 2,500,000 H (3&%L)
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